20

51 e

511 N=pk(p )

512 N =4 e

513 N=2xp" (p
52 N=4xp (p=7mod 12)

12
12
12
12
12
13

16

16



1 =0.142857
i 10
142 + 857 = 999

P o
200 N
2m [Q1aq27"'
2
[2327' 32]

1L N=p(p )

2. N=4

3. N=2xp*(p )

4, N =4 x pF (p =7 mod 12)

2

%9%%%% %9%%%%
/* for */
for(1=<J,1) - I =<J.
for(1=<J,K) :- I =<7,
11 is 1+1,for(11 =<J,K).

/* */
factor(P/2):-Q is P//2,P =:= 2*Q, 1.
factor(P/1):-P1 is floor(sqrt(P)),

y QZm]

Z|-

[qla q2,: -

7qm]7 [qm+17 dm—+2,"

’ QZm]



for(1 =< P1,J),
J1 is 2*J+1,
Q is P//J1,
=:= J1*Q,I1= Ji,!.
factor(P/P) :-1.

factorize(P,[P]):- factor(P/Q),Q==P,!.
factorize(P,List):- factor(F/I),
P1 is P//1,
List=[I1]Listl],
factorize(P1,Listl),!.

/** **/

gcd(A=(A,0)):-1.

gcd(D=(A,B)):-B1 is A mod B,A1=B,
gcd(D=(A1,B1)).

/** *% [/
res_q(A=B*Q+R) :- Q is A//B,R is A-B*Q.

/** append0/1 **/
append0(Z = [] + 2).
appendO(TA]Z] = [AIX] + Y) :- appendO(Z = X +Y).

/** **/

left(A=[]+A,0) :- 1.

left(A=B+C,N) :- N>O,N1 is N-1,1!,
left(A=B1+[X|C],N1) , appendO(B=B1+[X]),!.

half(L=A+B) :- length(L,N),N1 is N/2,
left(L=A+B,N1).

/** 10 G *% )
dig_g(N,[N],G) :- N<G.
dig g(N,L,G) :- N1 is N//G,

R1 is N mod G,



dig_g(N1,L1,6),
appendO(L=L1+[R1]).

g_dig(N,[N],G) :- N<G,

g_dig(X,L,G) :- appendO(L = N + [R]D),
g_dig(Y,N,G),
XisY *G +R.

/* */

gdig(A=B+C,G):- g_dig(X,B,0),
g_dig(Y,C,6),
Z is X+Y,

dig_g(Z,A,G),!.

/** 1/B G **/

junku4(B,G,L,SS) :-1<B,
junku4_aux([1/B,G],1,0,[],L),length(L,SS),
% write(SS),

.
junku4_aux([1/B,G],1,R,L,L) :-R>0,1!.
junku4_aux(Const,A,R,W,L) :-Const = [1/B,G],

Al is A*G,
res_q(A1=B*Q+R1),

% write(Q),tab(1),
appendo(W1=W+[QD),
junku4_aux(Const,R1,R1,W1,L).

/** B=A C ,1/B G **/

ninoichi(B,G,P) :- junku4(B,G,L,SS),
gcd(D1=(2,SS)),
(D1==2 -> half(L=X+Y),

% write(L),

gdig(P=X+Y,G)).



ninoichi2(A,C,G):- for(A=<C,B),
gcd(D1=(B,6)),

D1==1,

ninoichi(8,G,P),nl,
factorize(B,L),write(L),tab(3),
write(1/B),

write(’=7),

write(P),nl,fail.
ninoichi2(A,C,G).

/** **/

hyo(A,C,G) :- for(A=<C,B),
(gcd(D1=(B,G)),D1==1,
nl,

write(B),tab(2),

factorize(B,N),write(N),tab(3),

junku2(B,G,L),write(L),tab(3),

ninoichi(B,G,Q),write(Q),tab(3),

ninonil(B,G,P),write(P),tab(3)),fail.

hyo(A,C,G).



=1 200 L [2,2,--.2](2 ) N

4|22 2] 1

5 | [5] 2, 2] 2 97 | [97] 2,2 2 2] 24

71 2,2, 2] 3 98 | [2,7, 7] 2,2, 2 2] 21
10 | [2, 5] 2, 2] 2 101 | [101] 2,2 2 2] 50
14 | [2, 7] 2,2, 2] 3 103 | [103] 2,2 2 2] 18
17 | [17] 2,2, 2 2] 8 106 | [2, 53] 2,2, 22 26
19 | [19] 2,2 2 2] 9 113 | [113] 2,2 2 2] 56
25 | [5, 5] 2,2 2 2] 10 122 | [2, 61] 2,2 2 2 2] 5
28 | [2,2, 7] 2,2, 2] 3 124 | [2,2,31] |[22 - 2 2] 15
29 | [29] 2,2 2 2] 14 125 | [5, 5, 5] 2,2 2 2] 50
31 | [31] 2,2 2 2] 15 127 | [127] 2,2 2 2] 63
34 | [2,17] 2,2, 2 2] 8 133 | [7, 19] 2,2, 22 9
37 | [37] 2,2 2 2] 9 134 | [2, 67] 2,2 2 2] 11
38 | [2, 19] 2,2 2 2] 9 137 | [137] 2,2 2 2] 68
40 | [2,2,2,5] | [2] 1 139 | [139] 2,2, 22 69
41 | [41] 2,2 2, 2] 4 145 | [5, 29] 2,2 2 2] 14
43 | [43] 2,2 2 2] 21 146 | [2, 73] 2,2 2 2] 6
49 | 7, 7] 2,2, 2 2] 21 148 | [2,2,37] | [2.2 - 2 2] 9
50 | [2, 5, 5] 2,2 2 2] 10 149 | [149] 2,2 2 2] 74
53 | [53] 2,2 2 2] 26 151 | [151] 2,2 2 2] 25
58 | [2, 29] 2,2, 2 2] 14 157 | [157] 2,2, 22 39
61 | [61] 2,2 2 2 2] 5 158 | [2, 79] 2,2 2 2] 39
62 | [2,31] 2,2 2 2] 15 163 | [163] 2,2 2 2] 81
67 | [67] 2,2 2 2] 11 172 | [2,2,43] | [2,2 - 2 2] 21
73 | [73] 2,22 2 2, 2] 6 173 | [173] 2,2 2 2] 86
74 | [2,37] 2,2 2 2] 9 178 | [2, 89] 2,2 2 2] 44
76| [2,2,19] |[22 2 2] 9 193 | [193] 2,2 2 2] 8
79 | [79] 2,2 2 2] 39 194 | [2, 97] 2,2 2 2] 23
82 | [2, 41] 2,2 2 2] 4 196 | [2,2,7,71 | [2.2, -+ 2 2] 21
86 | [2, 43] 2,2 2 2] 21 197 | [197] 2,2 2 2] 98
89 | [89] 2,2 2 2] 44 199 | [199] 2,2 2 2] 99
91 | [7, 13] 2, 2] 2




2: N =p“(p )
N
5 | [5] 97 | [97]
7117 101 | [101]
17 | [17] 103 | [103]
19 | [19] 113 | [113]
25 | [5, 5] 125 | [5, 5, 5]
29 | [29] 127 | [127]
31 | [31] 137 | [137]
37 | [37] 139 | [139]
41 | [41] 149 | [149]
43 | [43] 151 | [151]
49 | [7, 7] 157 | [157]
53 | [53] 163 | [163]
61 | [61] 173 | [173]
67 | [67] 193 | [193]
73 | [73] 197 | [197]
79 | [79] 199 | [199]
89 | [89]
T N=4
N
[2, 2]




4: N = 2pF

10
14
34
38
50
58
62
74
82

[2, 9]
[2,7]
[2, 17]
[2, 19]
[2, 5, 5]
[2, 29]
[2, 31]
[2, 37]
[2, 41]

86

98
106
122
134
146
158
178
194

2, 43]
2,7, 7]
[2, 53]
[2, 61]
[2, 67]
[2, 73]
[2, 79]
[2, 89]
[2, 97]

5. N = dpk

28
76
124
172

196

2,2 7]
[2, 2, 19]
[2, 2, 31]
[2, 2, 43]
[2,2,7,7]

40
91
133
145
148

2, 2, 2, 5]
[7, 13]

[7, 19]

5, 29]

[2, 2, 37]




e
w
w

a<b 3xa b

Ba=qb+r

3ry b
3ri = qb+1r2
J=23,
3ry = qzb+ 3,
3rj—1=qib+ 7y,
3r; = qj+1b+ 141,
b
3a = r1y mod b,
3r1 = rp, mod b,
3rj_1 = r; mod b.
r; = 3rj—1 mod b,
ro = r1 Mod b,
r1 = 3a mod b.
r; = 37a mod b.
T; 3
rj =7, mod b ¢'a = gFa mod b
(¢ — g")a =0 mod b.
a b ,a mod b
37 = 3% mod b.
3 b 3mod b
37~k =1 mod b.
v gmodb ordy(g)

j—k=0modu



[ Ju 3

=1

O<R<u

u = ordy(3)
3 (

modb

modb 34=1modb A u
Q R A=uQ+R
34 = guR+R
34 = 3uQ x 3R,
1=1x 3%,
3R =1,
R=0 A=uQ
4.1

TjEBjamodb,
r; =71 <= j =k mod u.

1-3"){A+3"+...+37"D)y=1_3m=1_3“=0mod b.

1-3m 1-3™ b

143"+ ...+ 3m(—1) =0 mod b.

10

)

]



z =3 mod b

b
b.
b=pk.4,2p% p

™ = —1 mod b.

0< TitrmiTj < b

1.2

32m =1 modb
22 =1 mod b.
Z/bZ U(Z/bZ)
U(Z/vZz)
Tivm = 3+™a =3m37a = —r; mod b.
Tj+m = —Tj mod b,

Tj+m T 7j = 0 mod b.

’I“j+m+’l“j:b.

3rj = qj+1b+ 1w, (1)

3rjaem = Qj+14mb + Tjwrem. - (2)

3(rj + rjrm) = (1 + Gam+1)b + Tjrr + T,
3b = (gj+1 + ¢j+m+1)b + D,
3=¢qj+1+ Grm+1 + 1,
3-1= qj+1 +* Qj+m+1,
2=qj*+ gjwm- G+1=7

[ 42]b=pk420% @ )3 U(Z/bZ) ()
2

)

11

2m

z = —1 mod



51
5.1.1 N=p* (p )
512 N=4
3 N=4 [2,2]
513 N=2xp" (p )
4 N=2xp" (p ) [2,2,---,2](2
5.1.1 513 4.2

4.2

12

)

)

5.2



52 N =4xpX (p=7mod 12)

5 N =4xp* (p=7mod 12)

(N < 200)

u=2m
x = 3™ mod 4p
z? = 32" =1 mod 4p

3™ =z modp
3™ =z mod 4

r—1#0

p
z—1=0
m

(z—-1)

1=ap+p(z—-1)

3™ =22 =1modp

(x+1)(x—1)=0modp

p (r—1)
o,

1= p6(x—1)modp

B(x+1)(zx —1)=0mod p

xz+1=0mod p,

= -1
x =1 mod p,
z = £1 mod p.
3=-1mod4

13

(2,2,

4212

)



3" =(-1)"=-1mod4
z = —-1mod 4

3" =(-1)"=1mod4
3™ =+1modp

™ =1mod p

(3™ =1mod4)
3™ =1 mod 4p

™= —-1modp

m = 2k,
3k =X,
3" =3% = X2 = —1 mod p,
(_71)51 ,p =1mod 4,
P (p =7 mod 12)

4.3
X2 =—1modp p=1mod4

z2 =amodp
(2)=1
z? =3 mod p
(P =-1

m

x=+1modp---(1)
r=-1mod4---(2)

@ @

z=1modp
m =2k + 1( )
3% x3=1modp

14



)=

[EEY
I
~

)2 (B2 =1

-
1l

G)B) = (-1
1= (% )
3y =D
p=1L2a+7 p =3 mod 4.
p=3+4
(5)=(-)="
= (—1)1+2
=1
3) =1
(5)=(1)
X?2=pmod3
a=1 X?2=1 (H)=1
a=2 X?2=2mod 3
X=1
X=2
(3)=(-1)=p=2mod 3
p=12a+7
p=7mod3
p=1mod3
(3) =1
z=-1modp
= —1mod 4p

3"=xzmoddp z=-1
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